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PART A — (10 x 2 = 20 marks)
Answer any TEN questions, each in 30 words.

The rate constant of a second reaction is
3.3 x 102 dm3mol-1s-1. If the initial concentration
of the reactant is 0.05 mol dm-3, calculate its half
time.

QramLmbd  ams efmanudar elwmer Geus wrHled
3.3 x 102 dm3mol-1ts-I, 9ps ellenanuilen opybUE
Gedlay 0.05 mol dm=3, aafler <igar ey eyl
HETOSMSE STEHH (5. .

Find the order of the following reactions :

; 1
(@ N,Og >Ny + 2 Oy

(b) 2¥U—>24Th+iHe

demeumn  efleenseflen  elemeandeniy eumsmws
SerL_hls.

(=) NyOg >Ny, +mow@

(<) U2 Th+iHe

c_M_. R-s¢C E&f;v =

Define weak electrolyte with an example.

auallewwpm Weri@Geh eT(RSSISST_(HL6T euengwig).
What is transport Number?

B&ITEL GT6HT GTEMITED GTenTen?

What is meant by second order reaction?
@\TeRTLMD cuend 6denest Q%Eq%/ﬁ/mﬂmzo

PART B — (56 x 5 = 25 marks)

Answer any FIVE pnmmﬁobm“ each in 200 words.

Describe the Lindemann theory of unimolecular

reaction.

M possmy  elmander e wer Csraramsamu
afeufl. . .
What is Freundlich mmmogmos isotherm? Mention
its limitations.

collremgelld  Cupurliysé  sHeurds Qe omled)

GTEITMITED GTEITET? ASET QUILDL|EENETE GDILIA(H&.
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State :

(a) Stark-Einstein law

(b) Grothusand Draper’s law.

(&) eoLmié — pemaviedr 698 LHmID

(=) ECrmese ~ 4rmiur edflew s

Define heterogeneous catalysis with an example.
L eflemanysd uphl erGEgISHT_(HL6T cueTwmy.
List two molecules having C, axis of symmetry.
C, =ids &rend Osmemr @q@.ﬂ@ EPEVETn QS ETL]
UL g wedl(B\s.

Define order of a group.

Gsm@Sulien g Ty,

What is meant by E.M.F. of cells?

Ble semisaier BE.M.F. eraniger Quim(meT wimgy?
Define redox m_m.oﬁ.ommm with an example.

ThsgseT_GLer cummun . sAnGadn - OES
LBleTpeneTEe. .

What is meant by conductometric _Hm&#wobw
SLS5IGH e i UIMTTSSE) GTapTed 6reume?
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List the symmetry elements present in H,0 and
NH, and identify the point group of them.

H,O wpmio NH; epovsampsailer &ramw o muiysmer

" ulgwalie. Coand simeausalar Letalls GgmEdaw

SERTL_ (D] 5.

How is the pH of a solution determined by using
glass electrode?

saanty. Wenipeareani LuaTuGSS @ smrsader
pPH wélliy ereueumy semHluiu@ s ? .

Discuss electrochemical series and its significance.
Wlar Ceudl euflens wpmd @igen wpaflwusgiaund upd
elleurd). -

Hxvﬂmwbbmvwm-mzowﬁ-Osmmmoammzmiobmow
strong electrolytes. :

aualleann Bl&s 59[@%@%. g 6D LI— QD &HFHEV— Y GOTFTS(T
garum_eL ellars@s.

Specific conductance of a decimolar solution of
potassium chloride at 18°C is 1.12 Sm-l. The
resistance of a cell containing the solution at 18°C
was found to be 55 ohm. What is the cell constant?

18°C Qauiuflenavruded gm QL ACuoremi Gum_Lmélwib

GCermang® sepyeedan Hluin sLsgsdmer 1.12 Sm-!

SIBG s@IF@OWL I lanswgdar sevrL Bl
Blersen 55 ohm. wiger Wensea wrbled eraten?
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Answer any THREE questions, each in 500 words.

(@)

O

(<))

(<=3)

PART C — (3 x 10 = 30 marks)

Explain the terms activation energy and
energy barrier.

Compare OoEmwob goog and ARRT.
SerieyQamer SyHpD wHDD AHPS SOLL
LSEISemaTL LIHH 69l6rs@e.

Giorzed Qsmarens whmb ARRT 9@ s.

Explain the following with one example each :

(a)
(b)
(©
D

enzyme catalysis .
acid-base catalysis
Homogeneous catalysis

Heterogeneous catalysis.

1Ql6tTeu(meuaTeLDHEND 2 STTERTSHE)L 60T 6l 6Te:3s.

(=1)
(<)
(&)
G

(1)

(=)

(@)
(b)

(<1)

' 9IS HETENLOGEMETS &(TH.

Qprd eflenanGeus wTHOLD
M,__.gacla,:q llenenGeus LTHOD
6(1H LIl SSTest .99%9@@._9,6:@@5 .

ue Ligssmar eilemarGeus IHOLD -
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E\p& G Aevenger  Hlawr  Hlapre
eSS - SETLHls. 2 &g eflemLenw
ASTTSGILET 6T(LPEIS. g

() 2Agy +Zn"*ag >2Ag,, +Zn,
(B’ ag*/ag =0.80 V;E’z2+/zn =—0.763 V
@) 2Al, +250% e -2 A +3Sn>wy

(E°a3+/a1 =-1.66 V;E’sp4*/sn> =+0.15V

6T SIWPSSAPED STDUITTESM CTENDITed CTemen?

State and oxamwb Ostwald’s dilution law.

The molar conductances of sodium acetate,
HCl and. NaCl at infinite dilution are
91.0 x 104, 426.16 x 10~ and 126.45 x 10
Sm2mol-! respectively. Calculate the molar
conductance at infinite dilution for acetic
moa.\ .

Spevleumer Birsse eflflenuis s eflers@s.

. pyefder Biss Hlaewule, Gamguier HHAC G,

HCl ovpmid NaCl gdueundler Cuomeomm
s_gsi5 Smer pepCGu 91.0 x 104, 426.16 x
10#¢ owpmw 126.45 x 10* SmZmoll
wpyelaoer Biss Howuld ofllys oullwsdear
Grert sL_5gis Hnenas sanssl([Hs.
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23.

(a)

(b)

(1)

(a)

(b)

Derive an expression for rate constant. of
first order
characteristics.

reaction and write its

The rate constant of a second order reaction
is 5.70 x 10-°dm3mol-!s-1 at 25°C and
1.64 x 10~ dm3mol-!s-! at 40°C. Calculate the
activation energy.

Wwse» s  ellenaruden @995:%.%%&:9
Gareeuenw aumed, CL@Id <igem URTUSMET
T(PGIE. .

Qrewrmb euens eflenamuilen ailanarGeus Lomiad)
25°C QautiuBleaudier 5.70 x 10-5 dm? mol-ls-!

wppd 40°C  GQaiufleveude 1.64 x 104

AQBWBOTmL&@5.%9@299:%&%68@%
GETEE (5. =

Find out whether the following reactions are
feasible or not. Substantiate your answer:.

@) 248y +Zn% e >2Ag .y +Zng
(B"ag*/ag =0.80 V;E'zu?/zn =—0.763 V
(i) 2Al, +25n" @ —>2A1% +3Sn™ @y
(E*a3+/a1 =—1.66 V;E’snt*/sn?* =+0.15V

What are potentiometric titrations? Give
their advantages. .
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